

lec 11:-

$$\begin{pmatrix} 1 & 1 & 1 \\ 1 & 1 & 0 \\ 1 & 1 & 1 \end{pmatrix} = A$$

Chapter 2:-

Determinant :-

$$* A_{2 \times 2} = \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \text{ non singular } \Leftrightarrow A \cong I$$

$$\Rightarrow A = \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} \quad \text{Case 1 :-} \\ a_{11} \neq 0$$

$$-\frac{a_{21}}{a_{11}} R_1 + R_2 \rightarrow \begin{pmatrix} a_{11} & a_{12} \\ 0 & a_{11}a_{22} - a_{21}a_{12} \end{pmatrix}$$

$$\text{So } A \cong I \Leftrightarrow a_{11}a_{22} - a_{21}a_{12} \neq 0$$

$$\text{and } a_{11} \neq 0, \quad a_{11}a_{22} - a_{21}a_{12} \neq 0$$

Case 2 :-

$$\text{If } a_{11} = 0$$

$$\Rightarrow A \xrightarrow{R_1 \leftrightarrow R_2} \begin{pmatrix} a_{21} & a_{22} \\ 0 & a_{12} \end{pmatrix}$$

$$A \cong I \Leftrightarrow a_{21} \neq 0 \text{ and } a_{12} \neq 0$$

$$\text{Same as } (a_{12})(a_{21}) \neq 0$$

$$\Leftrightarrow -(a_{12})(a_{21}) \neq 0$$

$$\Leftrightarrow 0 - a_{21}a_{12} \neq 0$$

$$\Leftrightarrow a_{11}a_{22} - a_{21}a_{12} \neq 0, \quad a_{11} = 0$$

- In General The determinant determines whether A is singular or not

Let $A_{m \times n}$ we define the minor M_{ij} as the determinant of the $(m-1) \times (n-1)$ matrix obtained from A by deleting the i th row and j th column

$$A = \begin{pmatrix} a_{11} & a_{12} & a_{13} \\ a_{21} & a_{22} & a_{23} \\ a_{31} & a_{32} & a_{33} \end{pmatrix}$$

$$M_{2 \times 3} = \det \begin{pmatrix} a_{11} & a_{12} \\ a_{31} & a_{32} \end{pmatrix} = a_{11} a_{32} - a_{31} a_{12}$$

also we define cofactor A_{ij} as

$$A_{ij} = (-1)^{i+j} M_{ij}$$

$$\rightarrow A_{23} = (-1)^{2+3} M_{23} = - (a_{11} a_{32} - a_{31} a_{12})$$

$$\text{Ex. } A = \begin{pmatrix} a_{11} & a_{12} & a_{13} \\ a_{21} & a_{22} & a_{23} \\ a_{31} & a_{32} & a_{33} \end{pmatrix}$$

$$\underline{a_{11}} A_{11} + \underline{a_{12}} A_{12} + \underline{a_{13}} A_{13}$$

This is equal to * $\begin{matrix} \text{الصف الأول} \\ \text{السايف} \end{matrix}$

$$= a_{11} (-1)^2 \det \begin{pmatrix} a_{22} & a_{23} \\ a_{32} & a_{33} \end{pmatrix} + a_{12} (-1)^3 \det \begin{pmatrix} a_{21} & a_{23} \\ a_{31} & a_{33} \end{pmatrix}$$

$$+ a_{13} (-1)^1 \det \begin{pmatrix} a_{21} & a_{22} \\ a_{31} & a_{32} \end{pmatrix}$$

$$= a_{11} (a_{22}a_{33} - a_{23}a_{32}) - a_{12} (a_{21}a_{33} - a_{31}a_{23})$$

$$+ a_{13} (a_{21}a_{32} - a_{22}a_{31})$$

$$= a_{11}a_{22}a_{33} - a_{11}a_{23}a_{32} - a_{12}a_{21}a_{33} + a_{12}a_{23}a_{31} + a_{13}a_{21}a_{32} - a_{13}a_{22}a_{31}$$

↪ Same as *

$$\det A_{3 \times 3} = a_{11} A_{11} + a_{12} A_{12} + a_{13} A_{13} \quad (\text{1st row})$$

$$= a_{21} A_{21} + a_{22} A_{22} + a_{23} A_{23} \quad (\text{2nd row})$$

$$= a_{31} A_{31} + a_{32} A_{32} + a_{33} A_{33} \quad (\text{3rd row})$$

$$= a_{11} A_{11} + a_{21} A_{21} + a_{31} A_{31} \quad (\text{1st Column})$$

(2nd Column)
(3rd Column)

دترمینان از مجموع حاصلضرب عناصر یک سطر از ماتریس در دترمینانهای سطرهای دیگر به جز آن سطر به دست می آید.

Def:- $\det(A) = a_{i1}A_{i1} + a_{i2}A_{i2} + a_{i3}A_{i3} \dots + a_{in}A_{in}$ (ith row)

$|A| = a_{ij}A_{ij} + \dots + a_{nj}A_{nj}$ (jth Column)

A is nonsingular $\iff \det(A) \neq 0$
 A is singular $\iff \det(A) = 0$

Ex: $A = \begin{pmatrix} 1 & 0 & -1 \\ 2 & -1 & 1 \\ 0 & 0 & 1 \end{pmatrix}$ non singular?

$\det(A) = \begin{vmatrix} 1 & 0 & -1 \\ 2 & -1 & 1 \\ 0 & 0 & 1 \end{vmatrix}$

$= a_{11}A_{11} + a_{12}A_{12} + a_{13}A_{13}$

$= (1)(-1)^2 \begin{vmatrix} -1 & 1 \\ 0 & 1 \end{vmatrix} + 0(-1)^3 \begin{vmatrix} 2 & 1 \\ 0 & 1 \end{vmatrix}$

$+ (-1)(-1)^4 \begin{vmatrix} 2 & -1 \\ 0 & 0 \end{vmatrix}$

$= -1 + 0 - 0 = -1$

$\rightarrow A$ is non singular

$$\det(A) = 0 A_{31} + 0 A_{32} + 1 A_{33}$$

$$= (0) + (0) + (-1)^6 \begin{vmatrix} 1 & 0 \\ 2 & -1 \end{vmatrix} \quad (\text{3rd row})$$

$$= -1$$

Remarks:-

1- $A = \begin{pmatrix} 1 & 2 & 3 \\ 4 & 5 & 6 \\ 7 & 8 & 9 \end{pmatrix}$
3x3

There are 3
2x2 determinants

$A_{4 \times 4} = \begin{pmatrix} - & - & - & - \\ - & - & - & - \\ - & - & - & - \\ - & - & - & - \end{pmatrix}$

There are
4 (3x3) dete
- 4 x 3 (2x2) determinants
= 12 (2x2) determinants

2- If A has a row or column of zeros
then $\det(A) = 0$

3- If A has two identical rows or
column then the determinant of $A = 0$

$$A = \begin{pmatrix} 1 & 2 & 1 & 2 \\ 2 & 3 & 2 & 0 \\ -1 & 4 & -1 & 1 \\ 1 & 5 & 1 & 3 \end{pmatrix}$$

$$\det(A) = 0$$

$$4) \det(A^T) = \det(A)$$

5) If A is triangular (upper or lower)

Then $\det(A) =$ products of elements on main diagonal

$$\det(A) = a_{11} a_{22} \dots a_{nn}$$

Ex:-

$$A = \begin{pmatrix} 2 & -1 & 1 & 3 \\ 0 & -1 & 1 & 5 \\ 0 & 0 & 2 & 3 \\ 0 & 0 & 0 & -2 \end{pmatrix}$$

$$\rightarrow (2)(-1)(2)(-2) = 8$$

$$\leftarrow \det A = 2 \begin{vmatrix} -1 & 1 & 5 \\ 0 & 2 & 3 \\ 0 & 0 & -2 \end{vmatrix}$$

$$= 2 \begin{vmatrix} -1 & 1 & 5 \\ 0 & 2 & 3 \\ 0 & 0 & -2 \end{vmatrix}$$

$$= -2(-1) = 8$$

$$\det(a_{11}) = a_{11}$$

$$\begin{vmatrix} a_{11} \end{vmatrix}$$

Theory:- If $A = (a_{ij})_{n \times n}$, then:

$$a_{i1} A_{j1} + a_{i2} A_{j2} + \dots + a_{in} A_{jn} = \begin{cases} \det(A) & i=j \\ 0 & i \neq j \end{cases}$$

Ex: $A = \begin{pmatrix} 1 & 2 & 3 \\ 4 & 5 & 6 \\ 7 & 8 & 9 \end{pmatrix}$

$$* a_{11} A_{31} + a_{12} A_{32} + a_{13} A_{33} = (1) (-1)^1 \begin{vmatrix} 2 & 3 \\ 5 & 6 \end{vmatrix}$$

$$+ (2) (-1)^5 \begin{vmatrix} 1 & 3 \\ 4 & 6 \end{vmatrix} + (3) (-1)^6 \begin{vmatrix} 1 & 2 \\ 4 & 5 \end{vmatrix}$$

$$= (12 - 15) + - (2) (1 \times 6 - 3 \times 4) + 3 (1 \times 5 - 2 \times 4)$$

$$= -3 + 12 + 3 \times -3$$

$$= 9 - 9 = 0$$

$A = (a_{ij})_{n \times n}$, find $\det(A)$

$$A \xrightarrow[\text{operation}]{\text{row}} D = EA$$

$$\det(A) \xrightarrow{?} \det(EA) \quad ? \text{ بالأسئلة}$$

$$A = \begin{pmatrix} 1 & 2 & 3 \\ 4 & 5 & 6 \\ 7 & 8 & 9 \end{pmatrix} \xrightarrow{-R_1 + R_2} EA = \begin{pmatrix} 1 & 2 & 3 \\ 3 & 3 & 3 \\ 7 & 8 & 9 \end{pmatrix}$$

$$\det(EA) = \det(E) \det(A)$$

A , where $\det(E) = \begin{cases} -1 & \text{E is Type I} \\ \infty & \text{E is Type II} \\ 1 & \text{E is Type III} \end{cases}$

$$\begin{pmatrix} E & & \\ & E & \\ & & \ddots \end{pmatrix}$$

$$\begin{vmatrix} c & 0 \\ 0 & 0 \end{vmatrix} \det(E) = \dots$$

$$\begin{vmatrix} s & 1 \\ c & 0 \end{vmatrix} \det(E) = \begin{vmatrix} 3 & 1 \\ 2 & 1 \end{vmatrix} \det(E) + \dots$$

$$(s-2)(s-1) + (3-2)(s-1) = \dots$$

$$s^2 - 3s + 2 + s - 1 = \dots$$

$$\det(A) = \det(D) = \dots$$

$$A = D \dots$$

$$\det(A) = \det(D) = \dots$$

$$\begin{pmatrix} 3 & 1 \\ 2 & 1 \end{pmatrix} \det(A) = \dots$$

$$\det(A) = \det(D) = \dots$$